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Diplofna in Civil Engineering
II Semester Exams : CBCS (Backlog 2017 Batch) - September 2020
DPCE201PCT : Surveying - II

Total Time : 3 hrs Total Marks : 70
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_ug‘Zj_f ............................. J station d“':u;ﬂf@ reading B.S s/ F.S Ulz 4 station u/ (ii)
0 b0 o SRS R 4. L ) Calculate S Elevation (i)
—bH formula § Arithmetical check U= levelling  (iv)
S ':é ................................ S Vertical distance Ku&wﬁ Consecutive contours (v)
-ujéf;’/ e f;bfuﬁ Vertical Plane ¥ telescope Z Theodolite  (vi)
5t ) S LL/(}’" Horizontal Angle  (vii)
W i D SR L Theodolite ~ (viii)
W0, Cut R R T % Forth Quadrant Departure s/ Latitude  (ix)
& B s Formula ¥ Latitude Correction (= Bowditch's Rule (x)
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i /f,}_ud/éb?/ Dumpy level 2
L reading (f{i,.:( Instrument ..éf L;é readings Lgff d/ levelling J/?.,géu:/ 3
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L stations rl;’/:bz‘( v /"éj’ Reading -< 100.000 elevation § reading J#.g@f“"” i
-t /r:"’“ elevation
1.895, 1.520, 1.840, 2.400, 1.955, 2.020, 2.410, 2.502, 2.115
OIS e 80km SR fle (i 10m g 4
-J/CJ[-{. uses £ Contour Map 5
-,/uy. Temporary Adjustments Z Theodolite 6
| 4 Lf’/ Fast Needle Method 7
S KL_/’/()J'V Traverse Area 2/.5L Latitude & double meridian distance 8

_fla?f Transit rule ubﬂ’(uf;/l,é Balancing of Traverse 9
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Elevation § Station-B -2 L (yb’ readings é’fé_;é; ub»L Reciprocal levelling 10

A
Instrument at Staff Reading Remark
A B
A 1.155 2595 Distance AB = 500 m
B 0.985 2415 R.L of A =525.500

;/()L”‘ R.L ,'V"J;U/pl” Missing Data -(f -* readings m{ Readings L /L_J?L; 11
-+ Arithmetical Check

Station B.S 1S ES Rise Fall R Remark
1 2.300 150.000 B.M
2 1.850 X 0.700 | CP=1"
3 1.900
4 X 1.865 CP=2
5 2.000 1.250
6 X 0.950
7 2.190 2.185 CP-3
8 1,575




10 x 1.895 1.650 CP-4
11 1.350 0.750
-;/(}J"‘ area ¥ closed traverse c,uJ data Zfi.:{r 12
Side Latitude Departure
AB $225.5 +120.5
BC -245.0 +210.0
CD -150.5 -110.5
DA +170.0 -220.0
-;/(}L"” missing values L closed traverse & L.;éi_ 13
Line Length (m) Bearing
AB 100.0 2
BC 80.5 140° 30"
CD 60.0 220° 30"
DA ? 310715
Point P <Point A -« t/p#Aeb§ Line AB 50 - U bZ data § Traverse Survey 14

-« Point R « z&6L 75.0m
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Point B ssle ;&6 50.0m <

Line Length (m) Bearing
PQ 125 5 N30°15'E
OR 80.25 S 40°30'E
RS 150.75 §60°30'W
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